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Question 1. Select the odd words/numbers/letters/pairs from the given alternatives.
feu a1v faeredt 7 I fawe ersel/aEaT3il/ 316/ g7 i giav|

Options:

a) KMO

b) UXA

c) CEG

d) LNP

Correct Answer: UXA

Candidate Answer: UXA

Question 2. A circular piece of paper is folded and punched as shown in the question figure. How will it appear when opened?

Teh Jooll R FHFTST T HIST HR ST ST &, SHAT Toh TeaT 3MTepicd & ferman a1 &1 58 Wielel uX Sl 3mepfet fewdate

Options:
a)

<)

L

d)



reasoning

reasoning

reasoning

reasoning
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Question 3. Find the answer figure which will complete the pattern in the question figure.

e I & Heet FT O LT Aol Secl 3T H gal

Options:
a)

b)

<)

d)

Correct Answer:

Candidate Answer:

Question 4. From the given alternative words, select the word which cannot be formed using the letters of the given words:

o 1T Ao esal 7 W 3 UsE FT T Y it feU T Qs & 38R A 8T SATIT ST TRl |

GRANDMOTHER

Options:

a) TREND

b) THERMAL

c) MODERN

d) RANDOM

Correct Answer: THERMAL

Candidate Answer: THERMAL

Question 5. In a certain language "REKHA" is written as "NOPST", "RESHAM" is written as "NOHSTQ" and "SHYAM" is written as "HSLTQ". What will be "SHAME"
written as?

el areT # "REKHA" &Y "NOPST", "RESHAM" &I "NOHSTQ" 31X "SHYAM" &t "HSLTQ" for@r Sirar &, ar "SHAME" &l &y forar sieam?

Options:

a) SHQTO

b) HSTQO

c) HSTOQ

d) SHQOT

Correct Answer: HSTQO

Candidate Answer: HSTQO



Question 6. Select the related letters/words/numbers from the given alternatives.

feu a1v faeredl 7 & Traieticd R/ sel/TEansit # 9T

Colour : Red :: Language : ?
TaT:elleT: : $TT9T:?
Options:
a) Grammar
STOT
b) English
33T
c) Lingual
ef
d) History
i
Correct Answer: English

et

Candidate Answer: English
373

Question 7. A square sheet of paper is folded and punched as shown in the question figures. You have to figure out from amongst the four answer figures how it will
appear when unfolded.

Teh AR hATST hT HIST 3 SHT ST & SHaT o et 3mepferat & Rmmam ara &1 3meht & Tl 3epferat & @ ag el Wisfeh & S 5 Whelat o) F=19M|

2] | ==

Options:
a)

AEIEE]

b)

TR
TR

<)

IECEEE

d)

TR

EETR]

Correct Answer:

Candidate Answer:

Question 8. In the following question, a word is represented by only one set of numbers as given in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered 0 to 4 and that of Matrix II
are numbered 5 to 9. A letter from these matrices can be represented first by its row and then by its column, example, C can be represented by 55, 69 etc. and D can
be represented by 59, 68 etc. Similarly, you have to identify the set for the word given in the question.



AR 92T 3, U g el Uoh HEAT TG SaRT SRITT 1T §, SR o oot 3 & formelt wah 3 T oram €| fashodl 3 T a7 wear ogg 37T & & a9t g aeiie arw
&, orar for i faw ar smeggl 7 §1 3meyg I & wee 3R aferd o wear 0 9 4 7 & arfy § 3R 3megp 11 &1 5 0 9 3 & arfY §1 3T 3@l 7 Ueh 31&W ! Ugol 36! Gl
3R 91 F TN TEAT SIRT = MAT ST TR §| 3ETEX0T & foIT § &I 55, 69 3177e; 3117 & T 59, 68 e TRT ST ST TehelT & 1 aRE & 3T T2 H T 7T 2reg & fow
G T IETAAT & |

ROUND
Matrix I Matrix II
MR 1 g 11
01|23 |4 5|6 |7 |8 |9
0|B|N|R|T|H §|C|[L|O|U|D
1 |N|IR|T|H|B 6 |L|(O|JU|D|C
2| RITIHIB|N 7 0/U|D|C|L
3|TIHIB|INI|R g |U(D|C|L |O
4 |[HIBIN|IRIT 8 DICIL]JOU
Options:

a) 02, 57, 67, 23, 95

b) 34, 66, 58, 33, 95

c) 20, 56, 99, 33, 77

d) 11, 75, 59, 42, 86

Correct Answer: 34, 66, 58, 33, 95
Candidate Answer: 34, 66, 58, 33, 95

Question 9. In the following question, a mirror is placed on the line MN, then which of the answers figure is the right image of the given figures?

foretifanct sreaT 3 MN Y@ o) T quoT 1T 31T, af oot fof@d # & Sl & iy 3nepforat & w1 3eav 3mafa §2

A

X1 7?7 $
T ) (:
J £ B
Options:
a)
2 v =
{: :) 1
X L
b)
(2 ¢ =|
0 I R
|8 N LMN|
)
2 < EH
o N O &
g X LU
d)
2 ¢ X|
3 & 1
8 s Ln|
Correct Answer:
2 ¢ X|
3 & 1
a s Lnj|

Candidate Answer:
2 ¢ X|
3 & 1
a s Ln|



Question 10. If = means +, + means x, X means - and - means +, then what is the value of:
[(1440 - 36 x 16) + 15] + 5 + (144 - 12) + 25 =?

e + T T + &, + T AT X & X FT 30 - §,307 - F7 3127 = &, O =T 1 AT Tomcd=r grom?
[(1440 - 36 x 16) + 15] + 5 + (144 - 12) + 25 =?

Options:

a) 1500

b) 2100

c) 1200

d) 4800

Correct Answer: 2100

Candidate Answer: 2100

Question 11. The Venn diagram below shows the number of people who attended seminars on Physics, Chemistry, Maths and Biology. What is the number of people
who attended exactly any two seminars?

A1 few 717 397 3w & #Hifw e, TWRARAR, A0 3R ShafaaeT T 7 $1ET o aTel safFaar T GEar & Y | R off Sish & GeaoT # 1T oy arer
afFaat i dear frae &2

wafdaE e
Biclogy Seminar Physics seminar
5 | i fergm s
B
7
5\ p
'2' Maths Semnar
10 10 i TEE
—
Chemistry Seminar
Options:
a) 21
b) 36
c) 38
d) 42

Correct Answer: 36
Candidate Answer: 36

Question 12. Two statements are given, followed by two conclusions. You have to consider the statements to be true even if they seem to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

ey &Y sheyT o a1 & sy faw 10 &1 3Rt fou 1T el i T A §, T AE T AT aeat § e gf| et Aoy e § o Ru v fsehst 7 @ 7 i et
T 3TEROT HT 8

Statements:
HYsT

1. No pencil is eraser.
FS G W AT B
2. All erasers are sharpeners.

e TR AR

Conclusions:

ey

I. All sharpeners are pencil.

FHT IR G B

II. All sharpeners are erasers.

Tt e TR E

Options:

a) Only conclusion I follows

et foTsand 1 31TER0T 9l §

b) Only conclusion II follows

eyl fersehy 1T 31e]eR0T YT &

c) Either conclusion I or conclusion II follows
forsamd 1 2T I1 3TeRoT & §

d) Neither conclusion I nor conclusion II follows

fArsard 127 11 & § 1S 31eTERoT 78T Tt &



Correct Answer: Neither conclusion I nor conclusion II follows

ST 197 11 7 § IS 3TE0T T T &

Candidate Answer: Neither conclusion I nor conclusion II follows

foSeR 13 11 3 § I 31eTER0T 18T LT &

Question 13. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options.

rAfafld e & Teh s@err & 72  fwsd veh a1 310k dea1/ eR ocd §1 fau 10 fashedt & & 98 3ec) 9|

7,51,8,65,9,?
Options:

a)79

b) 80

c) 81

d) 82

Correct Answer: 81
Candidate Answer: 79

Question 14. Select the odd words/numbers/letters/pairs from the given alternatives.
U 10 fenedl 7 & fawer ereel/aEaT3i/ 378Ri/ g7 1 gfav|

Options:

a) AIDG

b) KTNQ

c) JMSP

d) UDXA

Correct Answer: JMSP

Candidate Answer: UDXA

Question 15. Select the related letters/words/numbers from the given alternatives.

feu 91T faehont A & gealetied 7R/ sel/aEansit # giv|

PRT: QSU ::VXZ:?
Options:

a) WyB

b) WYA

c) ACE

d) VYB

Correct Answer: WYA
Candidate Answer: WYA

Question 16. If X % y = y2 - x2, x$ y = X + y2, x # y = 2xy, then value of (13 % 5) $ 6) # 15 is
TARX%Yy=y2-X%, x$y =Xy, x#y=2xy&, ar (13 % 5) $ 6) # 15 &I AT fhclel G?
Options:

a) 480

b) 720

c) -360

d) -120

Correct Answer: -120

Candidate Answer: -120

Question 17. From the given alternative words, select the word which cannot be formed using the letters of the given words:

U 71T faheq Uear 3 W 3T QTeg, I TIT Y il [&U ITT 2eg; & 31&RT H AET SoI1T ST TheT |

ADMINISTRATORS
Options:

a) STARDOM

b) TRAITOR

c) DORMANT

d) MINISTER

Correct Answer: MINISTER
Candidate Answer: MINISTER

Question 18. Six friends are sitting in a circle and are facing the center of the circle. Runa, Charu and Pari are females. Varun, Manu and Prakash are males. Manu is
between Varun and Prakash, Charu is between Pari and Runa. Varun and Pari are opposite to each other. Person sitting to the right of Runa is male. Who is sitting
just right to Prakash?

OF T JATHR T # g I 3R 7@ A IS §U &1 Tl TR 3 T AR &1 TE0T, Fof 3R THIT T &3], THT 3R THIRN & ALT §T §171, T3 T 6 7Y S81
1 %07 3R T Toh-gER F HHA S §| FAT Y TS I TET ST §ITHIT & Uehed &l HIT Fle Sor 82

Options:



a) Manu
aq

b) Charu
BIEY

c) Pari
o

d) Varun
q&oT

Correct Answer: Pari

o

Candidate Answer: Pari

o

Question 19. Find out the correct alternative figure which contains the given question figure.

fawre amsfaat 3 & 39 snfa Hr vgae RS et vee 3efa B8 ¢

Options:
a)

Correct Answer:

T
Candidate Answer:
5 ~ I T
Question 20. In the following question, a mirror is placed on the line MN, then which of the answers figure is the right image of the given figures?

foratifenct seaT 31 MN Y@ TR T Ut T@T 31T, ot oot foif@d # & e & it 3epforat 1 # 3ea 3mafar 82

of




Options:
a)

b)

D)

d)

NG
-

Correct Answer:

~
457

(‘]ﬂ

Candidate Answer:

Y
&

%

Question 21. In the diagrams below, faces of dice are shown from two different directions. Which number will be opposite to 4?

el few 9w RSt & a3 Fgt o ey et fermsit & fewman I €1 4 & fauRd i T geie

r\
é
o
e
i

Options:

a)2

b) 3

ol

d)5

Correct Answer: 2
Candidate Answer: 2

Question 22. Which of the given answer figures is hidden in the question figure?

& It T A SecR ITPFT we Irplar F wARd 82



| I

_\.T.J_
J-l-—

Options:
a)

d)

Correct Answer:_
rrl
Candidate Answ_er:

ffl__r‘

Question 23. Select the odd words/numbers/letters/pairs from the given alternatives.
U 10 fehedl 7 & faver ereel/aEaT31/ 378RY/Z7aA 1 giav|

Options:

a) Cardiology

e AT

b) Psychology

AATTART

c) Neurology
Q_J

d) Nephrology
EEaCic)

Correct Answer: Psychology

FAaAT

Candidate Answer: Psychology
AT

Question 24. Rahul travels 10 km towards East, then he takes left turn and travels 3 km. He then takes right turn and travels 5 km, he again takes right turn and
travels 8 km and finally takes right turn one more time and travels 3 km. How far is he from his starting point and in which direction?

et 10 Tl G 1 3T ecl & AR 1S 3T #{geRT 3 el Tercht §lag O arari a35 < 5 fohell. TreielT &, TR @l o5 o 8 fohal. wrefalT & 31 31  Ueh oI &1 3R] 733 X
3 foratt. =T §1 3% IR foig & feraett or 3K forwr ferm 1 82

Options:

a) 12 km towards South-East

afaror-qd & 30 12 e,

b) 13 km towards North-West



Scd-gfRad & AR 13 faa.
c) 12 km towards North-West
ScdR-ufeaa & 3R 12 faa.
d) 13 km towards South-East
faor-qa r 3 13 fet,

Correct Answer: 13 km towards South-East

ZRaToT-qd 1 3 13 foet.

Candidate Answer: 12 km towards South-East
afroT-d #1307 12 R,

Question 25. Select the related letters/words/numbers from the given alternatives.

fu a0 et 7 & wafeted 3R/ aedl/aEanstt # g

12:45::175:7?
Options:

a) 539

b) 540

c) 541

d) 542

Correct Answer: 539
Candidate Answer: 539

Question 26. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options.

rfafld e & Tk saer & a1t ¢ forwsd ve o 31 gea/ 18R ocd §1 fau 71w fasmedt 7 & w8 3ca) 9|

ACF, BEI, CGL, DIO, ?
Options:

a) EG)

b) EKQ

c) EHL

d) EKR

Correct Answer: EKR
Candidate Answer: EKR

Question 27. Select the missing number from the given responses.
Tew 91T faehot 7 & oo HET A HIHT |

8 5 4

7 6 8

12 20 12

4 10 ?
Options:

a) 40

b) 30

c) 20

d) 35

Correct Answer: 20
Candidate Answer: 20

Question 28. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options.

TFATET weaT & Ueh el &1 701 § Toras Ueh a1 31fteh dea/ 3R ovd &1 8w a1v fashedt & @ 6gY 3cok gfaiy|

Cube > Square > ?
eI T > g > ?
Options:

a) Line

ar

b) Triangle
Rt

c) Rectangle
3rad

d) Circle

ged

C

Correct Answer: Line

ar

Candidate Answer: Line

T



Question 29. If + means X, - means +, X means +, + means -, then what is the value of 50 + 10 - 50 x 10 + 125 ?
I+ FTHT X, - FIHT +, X FTIT +, + FTHT - &, ar 50 + 10 - 50 x 10 +125 T AF Fhc=r ghm?

Options:

a) 380

b) 56

c) 180

d) -125

Correct Answer: 380

Candidate Answer: 380

Question 30. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options.

TFATET weaT & Ueh el &1 701 § Torast Ueh a1 31feieh dea/ 3R ovd &1 8w a1v fashedt & @ 681 el giaiy|

Leaves, Twig, Branches, Trunk, ?
Ied, TEaT, @Y, =T, ?
Options:

a) Soil

ex

b) Roots

S

c) Fruits

el

d) Grass

g

Correct Answer: Roots
SES

Candidate Answer: Roots
S

Question 31. Select the related letters/words/numbers from the given alternatives.

feu 91T faehoat 7 & geafetied 7R/ sel/aEansit # giv|

Baking : Bread :: ? : Curd
JehlAT: 882 2:E8T
Options:

a) Brewing

[EREIECE

b) Coagulation

st

c) Fermentation

fpoaeT

d) Boiling

FIYeT

Correct Answer: Fermentation

fpuaer

Candidate Answer: Fermentation

fpoaeT

Question 32. Which of the following represents the relationship between Science, Biology and Zoology?

T, ShafaseT 3R aoft =T & AeT Jae &1 festited # & ford T garT yeiRia foram a3 g2

Options:
a)

b)

<)

d)



Correct Answer:

Candidate Answer:

Question 33. If '@' means less than equal to, '$' means less than, '#' means greater than and '&' means neither greater than nor equal to,anda @ b, b& ¢, d # ¢, e
$ d, then:

'@ FACIT'<'§, '$ AT Ay '<' g, 3R '# A aead > IR 'Y A AT e A > 3T =, 3Ma @b, b&e, d#c, e$darmarn

Options:

a)a<d

b)b>e

c)a<e

dyc=e

Correct Answer: a <d

Candidate Answer: a <d

Question 34. Select the odd words/numbers/letters/pairs from the given alternatives.
o o Rt o & e ereel/sreansit swry/geat # gfe|
Options:

a) Green

&I

b) Black

hlell

c) Laterite

LRl

d) Alluvial

ECicS

Correct Answer: Green

54

Candidate Answer: Green

54

Question 35. In the following question, a word is represented by only one set of numbers as given in any one of the alternatives. The set of numbers given in the
alternatives are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered 0 to 4 and that of Matrix II
are numbered 5 to 9. A letter from these matrices can be represented first by its row and then by its column, example, C can be represented by 55, 69 etc. and D can
be represented by 59, 68 etc. Similarly, you have to identify the set for the word given in the question.

AT Teat #, Ueh 2lec; el Teh HEIT HHg SaRT ST aram &, St & farehodt & & forelt wen & R arar &1 farerodt & v a1v weam @ 3R & 2 a9t gary eriiv arw
g, ot o o) faw & 3meggh 7 81 3megg 1 & wawer 31X dfer & dear 0 & 4 7 &y a1 § 30 ey 11 1 5 & 9 7 &y arfl §1 57 3HTeggl H Ueh 38R I Ugel 37! Gfared
3R TE # T TEAT SaRT AT ST HRdT & | 3aTEI0T & folw § &1 55, 69 3fe 3% % &1 59, 68 3MTTE GaRT ST ST T & I1SE g A IR J2f H U 0 2reg & forw
TG Y TG &

MASTER
Matrix I Matrix II
Ao 1 R 11
0|1(2]3 |4 5|6 |7 |8 |9
0DISIMAIR|T §|PIE|R|[I |L
1 MA|IR|T|S E |E|R]|I [L|P
2 |A|IR|T|S|M 7T|R|I |L|P|E
3 |R|IT|[S|M|A 8|l [LI[P|E|R
4 [ T|IS|IM|(A|R 9 |L|P|E[R]|I
Options:

a) 01, 43, 41, 04, 65, 44
b) 33, 11, 23, 41, 79, 98



c) 01, 43, 00, 42, 65, 44

d) 33, 11, 32, 03, 79, 98

Correct Answer: 01, 43, 41, 04, 65, 44
Candidate Answer: 01, 43, 41, 04, 65, 44

Question 36. In a certain code language ABSOLUTE is written as ESBLOTUA. How will CALENDAR be written in that code language?
T3l 3 o771 & ABSOLUTE &1 ESBLOTUA o STelT €, oY 38 e 11T 7 CALENDAR T fohef T forat siream?

Options:

a) RLAENADC

b) RLANEADC

c) RALNEADC

d) RANLAEDC

Correct Answer: RLANEADC
Candidate Answer: RLANEADC

Question 37. Select the odd words/numbers/letters/pairs from the given alternatives.
feu a1v ferel 7 & fawa ereel/aEan3il/ 3R/ g7 i gfav|

Options:

a) 36 - 145

b) 16011

c) 91 - 363

d) 64 - 255

Correct Answer: 64 - 255

Candidate Answer: 16011

Question 38. In the following question, a series is given with one or more number(s)/alphabet missing. Choose the correct alternative from the given options.

rfafld wea 7 v sj@er & 7t  fores ve o 31 gea/ 18R ocd §1 e v fasmedt 7 & @8 3o} 9|

A?,L0O,7?

Options:

a)D, T

b)F, Vv

c)E U

d)C, W

Correct Answer: E, U
Candidate Answer: E, U

Question 39. Select the odd words/numbers/letters/pairs from the given alternatives.
few I fehedt 3 & fawar ereel/ a3/ 3R/ g7 #r gfav|

Options:

a) 169

b) 196

c) 255

d) 289

Correct Answer: 255

Candidate Answer: 255

Question 40. The set of alphabets below follows a particular pattern. Which option does not follow the pattern?

FArY ez a3 37eRT 1 A TF Yoot garaT & IRe=iTha 7 & Hlaar fAeweq teet 8T sear 872

Alphabet set: AE, GK, YC, MQ
378 Ae: AE, GK, YC, MQ
Options:

a) XB

b) Wz

c) RV

d) LP

Correct Answer: WZ
Candidate Answer: WZ

Question 41. Two statements are given, followed by two conclusions. You have to consider the statements to be true even if they seem to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

T 2 FUAT F T1G & sy fAw arw §| 3m9ent U 7T =t il T AT §, IR Ig Fafafed a2t & e g 3mdent fAvty o § o g are fasenst & 3 ar w5 St
T 3T EROT AT ¢ |

Statements:
hYel:

1. Some monkeys are dogs.



TS e Fed 8
2. All dogs are cats.
Tl el fafeer €

Conclusions:

oSy

1. Some monkeys are cats.

Fo d fafeaai €1

II. No dog is cat.

TS Fooall Treel 6T 81

Options:

a) Only conclusion I follows

e 1 3FTEOT HAT &

b) Only conclusion II follows

el forsed 1T 31e]eRoT &tar &

c) Either conclusion I or conclusion II follows
TS I T 11 3T 80T &XT §

d) Neither conclusion I nor conclusion II follows

TS 197 1T & & IS 31TE0T e hlall &
Correct Answer: Only conclusion I follows
el I 3TTER0T T §

Candidate Answer: Only conclusion I follows
I I 3FTEROT HAT &

Question 42. Study the given figure and answer the following question.

eu a1w T o1 31T Y 3R AeAfaf@d 9o &1 3ca) &

What is the sum of numbers which belongs to the rhombus but not the square?
3o HIGATHT T AT TAN S TGS A § et aot A =76l

Options:

a) 15

b) 13

c) 26

d) 14

Correct Answer: 15

Candidate Answer: 15

Question 43. Mr. A travelled from a point 'X' straight towards east at a distance of 80 m. He turned to his right and walked 40 m. He again turned to his right and
walked 80 m. He then turned his left and walked 20 m and took left and again walked 80m. Now he turned towards his left and walked 60 m and stopped. How far
and in which direction is he from the starting point 'X'?

A, A, X g & q& 1 31 80 HieT 1 gl T Fll &[98 &8 3 HHT 40 HeT AT §1 8 o: &S 3R HZhT 80 HeX Tl ¥R a8 S1¢ Heh 20 HIeT wofall & 3R
a1 3] 80 HeX TeleTT §1 319 A€ a1 3R 60 X Tolh Th Sl &1 e X Toig § Fvetet gy 3R oy faem a4 82
Options:

a) 80 m towards North

3cd¥ I 3T 80 #Hiex

b) 60 m towards East

qd T 3R 60 #HeX

c) 80 m towards West

qfFaa &1 3T 80 Hiex

d) 80 m towards East

oF #1307 80 HeX

Correct Answer: 80 m towards East

qd T 3R 80 #Hex



Candidate Answer: 80 m towards East

T & 37 80 e

Question 44. Find the answer figure which will complete the pattern in the question figure.

ST 3Tt & Yeet &1 U FTeT aTel 3cak T 3 gl

Options:
a)

b)

<)

d)

Correct Answer:

Candidate Answer:

Question 45. The chief constituent of natural gas is:
STepfcieh 3 T HET T T 87
Options:

a) Methane

e

b) Helium

RICRE

c) Nitrogen

AT

d) Propane

9T

Correct Answer: Methane

et

Candidate Answer: Methane

Ay

Question 46. Hydroscope is an instrument that shows changes in:

BISSIERIT ST ol & §U TRET T &R 87



Options:

a) Sound under water

et & 3feeX &qel

b) Atmospheric humidity

ARSI Jmsar

c) Density of liquid

et &l Yedcd

d) Elevation of land

DGRk

Correct Answer: Sound under water
et & 3oy Eqel

Candidate Answer: Sound under water
et & 3feeX &qell

Question 47. Cryogenics is:

FISIATAS &

Options:

a) A scientific study of dust

el T Teh JAlfeten et

b) Study of heat

AT T 3T

c) Scientific study of very low temperatures
g e I T AAfAP 3EqTT

d) Study of genesis

Scqfed T T

Correct Answer: Scientific study of very low temperatures
SEA A ATTAT T Fafas sregae

Candidate Answer: Scientific study of very low temperatures
SEA HH ATTAT FH TaNfeTen eI

Question 48. Which Article of the Indian Constitution provides free and compulsory education to children?
AR LT T it T 3Tede dedi 1 o AT 3ifrard R JereT aar &2

Options:

a) 21-A

b) 46

c) 39

d) 15

Correct Answer: 21-A

Candidate Answer: 21-A

Question 49. Who was the 1st President of South Africa after apartheid?
TG & S1G GFETOT 3TSRIHT T IgeTl ISgafd diel AT?
Options:

a) Zuma

ST

b) Nelson Mandela

ol Hell

c) Kofi Annan

FIHT HeoTH

d) Booker T. Washington

g &, arfieres

Correct Answer: Zuma

STAT

o

Candidate Answer: Nelson Mandela

HoeT FHIel

Question 50. Ashok Dalwai committee is related to:

3NRNF SIATS FHE T &

Options:

a) Preparing a blueprint for doubling farmer's income by 2022.

2022 T THETEAT 1 37 I QAT e & T Teh Hel TNl TR X o faw |
b) Monitoring Government Advertisements

WHNT Il I Ao 3@ & forw

c) Sorting out issue on central excise duty on jewellers.



JTHOT 0T Y AT 3G Yoeh AR, Y GolgTal o AT |

d) Suggesting ways to tighten security along Indo-Pak border

IRCT-UTeh AT IR GRET HSIT el & oo FTlel & folw

Correct Answer: Preparing a blueprint for doubling farmer's income by 2022.

2022 T TRETAT &1 37T T QAT e & fAT Toh HeT TNl TR 4 & faw |

Candidate Answer: Preparing a blueprint for doubling farmer's income by 2022.

2022 T ThETAT 1 3T T AT e oh [T Teh HeT Flolell IR el o o |

Question 51. Who holds the highest law office in India?
R # FAla Flefsil UG T isT HeTTelelT 67

Options:

a) Attorney General

ASITIATEY

b) Accountant General

FETORETITeT

c) Lieutenant General

dftFeaiT Stellel

d) Solicitor General

FfIffex Seel

Correct Answer: Attorney General
HETATIATEr
Candidate Answer: Attorney General

ASITIATEY

Question 52. How many bits are equal to one byte?
fohdeY ey U a15e & SRIS] g1aT &7

Options:

a)s8

b) 10

c) 12

d) 14

Correct Answer: 8

Candidate Answer: 8

Question 53. Salts of which of the following elements provide colors to fireworks? e & & i & dcd HT ATUT IHTTAHIST S W1 YeTeT HIAT &2

Options:

a) Zinc and sulphur

S 3R Jem

b) Potassium and mercury

qrefRr# 3R arT

¢) Strontium and barium

Fgifea# iR R

d) Chromium and nickel

HifaTa 3R A

Correct Answer: Strontium and barium
e 3R R

Candidate Answer: Strontium and barium

Fifeas 3tk IRTHT

Question 54. Abbreviation of Doctor of Philosophy is:
STeFeT 3T TOhoiTghT a1 TfEICT AT T &

Options:

a) PH.D

b) D Phil

c)PHD

d) Ph. D

Correct Answer: Ph. D
Candidate Answer: Ph. D

Question 55. The quintessence of Gandhian thought is:
aefiaTe) RARYRT o7 TRccd 4T &7

Options:

a) Satyagraha

TATTE



b) Metaphysics
GRTIEEC

c) Spiritualism
3 TcAdIG

d) Moksha
et

Correct Answer: Satyagraha
HeAE

Candidate Answer: Satyagraha
HARIE

Question 56. When was RBI established?
ITRSABTS T TATIAT g%’ oA

Options:

a) 1943

b) 1935

c) 1939

d) 1936

Correct Answer: 1935
Candidate Answer: 1935

Question 57. In the Union Government, the Council of Ministers is collectively responsible for the:
&g TR #, AR Hr aivg aefes 7§ R 8§
Options:

a) President

egafa & fow

b) Prime Minister

T & forw

c) Lok Sabha

dlieh | o forw

d) Parliament

g & fow

Correct Answer: Lok Sabha

ik g3 o forw

Candidate Answer: Prime Minister

JUTAHA & fow

Question 58. The Person known for "Communication Revolution in India" is:
"HRA F FOR Hifa" & fow o Srer srar g2
Options:

a) Prannoy Roy

JORT I

b) Petroda Ericson

TaeT vReaa

c) Craig Wigginton

St fafoTeTesT

d) Sam Pitroda

a EET

Correct Answer: Sam Pitroda
@ e

Candidate Answer: Sam Pitroda

T e

Question 59. Which one of the following reflects back more sunlight as compared to other three?
T F @ it 3177 et T JoreT ¥ T F T Y AT I: ATl AT 82
Options:

a) Sand desert

I & e

b) Land covered with fresh snow

o fewreer & o g6

c) Prairie land

et o

d) Paddy crop land

ETeTeh! el T

Correct Answer: Land covered with fresh snow



oY feraTe A & g$ oA
Candidate Answer: Paddy crop land

ETeTeh! Bl T A

Question 60. Which Article of the Indian Constitution provides free legal aid and equal justice?
AR HSETeT 7 et AT 3TeTeee HoFel Plefel! Fordell IR FHI =R Felel Il 87

Options:

a) 30

b) 25

c) 39-A

d) 33-B

Correct Answer: 39-A

Candidate Answer: 39-A

Question 61. If in the east it is Guhar Moti, in north it is Siachen Glacier, then in south it is:
f2 ER A 9 # &, R 7ARRR Seax # &, o e A w2
Options:

a) Kuttanad

Pedlelc

b) Kanyakumari

FATHAY

c) Rameshwaram

TARERHA

d) Indira point

Correct Answer: Indira point

Candidate Answer: Indira point

gfegr aige

Question 62. The genes causing Cancer are called:
$HTX 3cTeaT el ATel ST/ T AT gl AT 572
Options:

a) operons

AT

b) oncogenes

KlIEaE ey

C) recons

e

d) mutons

=g

Correct Answer: oncogenes

JHichrotd

Candidate Answer: oncogenes

ki Carcin

Question 63. The second lightest of all gases is:
T 3T F gEd I goeht A T A T §?
Options:

a) Nitrogen

ATSISTT

b) Hydrogen

REESCH

c) Helium

o
d) Oxygen
3itrdsTeT

Correct Answer: Helium
RIGRE

Candidate Answer: Helium

Eiforre

Question 64. What is the brain of the computer called?
YL & AT 1 AT FgT STl 87



Options:

a) CPU

g

b) Motherboard
XIS

c) HDD

JWEE]

d) Hardware

QRN

Correct Answer: CPU

Ay

Candidate Answer: CPU
A

~

Question 65. The magnitude of current flowing between two end points of a conductor is proportional to the potential difference between them and is called as:
ol =T 3 Qe 3iferaT gt & T ey aTel et &IRT 71 AT 3e7h AT 3 FASeR 5 T BelT & 3R 3 gt STel 87
Options:

a) Avogadro's law

ARG &

b) Rault's law

Ao &

c) Ohms law

JEFg ar

d) Faraday's law

s o

Correct Answer: Ohms law

Jere o

Candidate Answer: Ohms law

erg ot

Question 66. Name the first woman Chief Minister of Jammu and Kashmir?
ST 3R AR T Tl AR FEaH o A A §?
Options:

a) Sakina Itoo

ThIAT Zer

b) Mehbooba Mufti

FST FFAT

c) Asiya Nagash

3ifaT srerer

d) Hina Shafi Bhat

=T AT 4T

Correct Answer: Mehbooba Mufti

FGST A

Candidate Answer: Mehbooba Mufti

Question 67. The maximum biodiversity is found in
3fRae ST AfFerar el arft s &2
Options:

a) Tropical rain forests

Seurhfea e It g

b) Temperate forests

fdrsor gt

c) Coniferous forests

RN el

d) Arctic forest

TR gt

Correct Answer: Tropical rain forests
SeUThRfeT T IuT gt
Candidate Answer: Tropical rain forests

3SUTh T auT gt

Question 68. Which of these statements is correct with regard to appointment of the Chairperson of the National Human Rights Commission?

TSET AoTa ITARR AT & 37eeT A FGTFeT & Forer 7 Toveet A F et o7 hored W &2



Options:

a) He/She has to be a retired Chief Justice of India

TE ARl T Ueh Jalleidcd] HET ~IIATENRT gl =1ieT

b) He/She has to be a retired Supreme Court Judge

gg Ueh HaTfeigced =TT g =g

c) He/She has to be a serving/retired Chief Justice of a High Court

98 3T AR I Ydlfeiged / QAR HEF ~ARTHRT gl Mg

d) He/She should have demonstrated experience as a Human Rights activist
3G HAATEHR HRIhT & TG 3 37 T e a7 8

Correct Answer: He/She has to be a retired Chief Justice of India
a8 ARl T Ueh Jalieidccd HET ~ARATENRI gl 1fgT

Candidate Answer: He/She has to be a retired Chief Justice of India

TE ARl T Ueh Jalleidcd] HET ~IRATENRT gl =1ieT

Question 69. Name the southernmost tip of India.

HRA & ch @@ ol IR FT F¢ @ 21 AT 872

Options:

a) Last Point

b) Indira Point

c) Darshini Point

iR ulse

d) Light Point

RISl Uise

Correct Answer: Indira Point
Candidate Answer: Indira Point

gfegr aige

Question 70. When a ship enters the sea from a river what will be the effect?
SIS Ueh SgToT Ueh 16T & TG ¥ ST T § il SHHT AT G giam ?
Options:

a) It lowers

g HAR AT AT

b) It sways

9 feo eRTaT ®

c) It rises a little

J 25T A FW 35T

d) It jolts

3§ Ruehiel AR ¥

Correct Answer: It rises a little

J 25T MW 35T

Candidate Answer: It lowers
g HAR AT AT

Question 71. Which of the following countries has recently superseded Thailand as the world's largest rice exporter in 2015?
BT & 7 o7 H T T T S ¥ 2015 H 27 7 GaH 987 Ao AT & T F A5 I LA o for &2

Options:

a) India

AR

b) Bangladesh

FiTereRr

c) China

ot

d) Indonesia

SRR

Correct Answer: India
AT

Candidate Answer: Indonesia

EECINDI

Question 72. Which is the largest blood vessel in human body?



AT RR H T T I AT it T 8?2
Options:

a) Aorta

i

b) Anatomises
TARAE AT

c) Tunica Intima
Tgfee sfeean

d) Atrium

ufeTH

Correct Answer: Aorta

w3

Candidate Answer: Aorta

T3

Question 73. Processors contain a control unit and a/an:
T A T Fuda gec i v anffer glar e
Options:

a) Expansion slot

TFAYRIT Toilc

b) Port

i

c) Arithmetic logic unit (ALU)

e dfes Ifere

d) CD drive

RENEE]

Correct Answer: Arithmetic logic unit (ALU)
IR e Ifere

Candidate Answer: Arithmetic logic unit (ALU)
3RAfes difos uﬁl‘c’

Question 74. El Nino' that affects our Monsoons, has its origins in
Tl A" S AR AL Sl THITI HAT §, SHeRT Fel 1 §?
Options:

a) The Indian Ocean

fge FgERR

b) The Himalayan Plateau

AT & TSR

c) The Pacific Ocean

TRITdT AR

d) The Arabian Peninsula

3RS YrIed T

Correct Answer: The Pacific Ocean

gRlid HEMER

Candidate Answer: The Pacific Ocean

LT FAGRANER

Question 75. Who is the Chairman of BRICS?
BRICS & 31¢276T Shief 8?2
Options:

a) M.V. Kamath

TH T FEYT

b) K.V. Kamath

&4 FFET

c) Sudeep Kamath

G Y

d) Sudhish Kamath

GERT FHY

Correct Answer: K.V. Kamath
&.9Y. FET

Candidate Answer: K.V. Kamath
F.dY. AT

Question 76. Which one of the following schedules of the Constitution of India contains provisions regarding anti-defection Act?



IR TAEITT 2T et T ST & Feh eoreeel JfRTTs & Geafed wraeme e 82
Options:

a) Second Schedule

H0 1o

b) Fifth Schedule

RIREIECG])

c) Eighth Schedule

TS 3

d) Tenth Schedule

el

Correct Answer: Tenth Schedule
&t 3T

Candidate Answer: Tenth Schedule

& Jregegelt

Question 77. Which of these straits separates Asia from Africa?
vt 3 & loT A TR 3nPeRT & TRYAT P 31T el 82
Options:

a) Malacca

HTelFhT

b) Hormuz

s

c) Bab-al-Mandeb

I-37eT FeT

d) Bosphorus

SERred

Correct Answer: Bab-al-Mandeb

E-3e FeT

Candidate Answer: Malacca

HTelFhT

Question 78. An Equinox is when:

SIS gidT § o

Options:

a) Day and night are of equal length

T 3R Td R 8 &

b) Day is of the shortest duration during the year
T IV & SR Hod oleT feeT giar &

c) Day is of the longest duration in the year

T ¥ & ERIeT T 927 ST grar &

d) Day when maximum rainfall of the year occurs

T aY & SRIeT STa T 31Tk auT gldT &

Correct Answer: Day and night are of equal length

T 3R T R B §

Candidate Answer: Day and night are of equal length
et 3R Ta SRR g &

Question 79. The slope of the given line is:

& IS 3G H 3T &

BT

Options:



a) Positive

YellcHD

b) Negative

FOTcHb

c) Undefined

3afota

d) Zero

T

Correct Answer: Negative
FOMcHD

Candidate Answer: Negative
EIEE

Question 80.

If a+1=1cma’b +1=1:kenc+li8 equals to
b c a

Eﬂ:da+§=1 Gﬁ?b+§=1 GIET i?ﬁﬂ'ﬁﬁ%

Options:

a)l

b) 0

c)-1

d)2

Correct Answer: 1
Candidate Answer: 1

Question 81. Study the following line chart carefuly and answer the question given below. The following line chart represents the number of employee recruited in
different years in a company.

AT TWT A1 T EATTde AHEAAT Y 3T 99T &7 3ea} Qo (feteAifene YT e 7 Fuett # [affest aut o a7cff Ry oo sratenia hr e &t geifm ar=m &

2010 2011 2012 2013 2014

The number of employees recruited in year 2012 was what percent of the number of emplyees recruited in year 2014.
2012 # o1t TRt i Tear, 2014 # st Rt & fhaer ufaea 4

Options:

a) 50%

b) 60%

c) 62.5%

d) 70%

Correct Answer: 62.5%

Candidate Answer: 62.5%

Question 82. In AABC, D is the mid-point of BC and G is the centroid. If GD=5 cm, then the length of AD is:
AABC # D, BC &l #eY fieq 31X G Fwaeh 8, I1& GD=5 A alt AD &t wreai$ ghef:
Options:

a) 10 cm

10 &=

b) 12 cm

12 /9

c) 15cm

15 3t

d) 20 cm

20 &

Correct Answer: 15 cm

15 &

Candidate Answer: 20 cm

20 T



Question 83.
&+ +¢’ —3abe
a +5b +c”

+IFAAE:

+3 s

If(2a-3) +(3b+4) +(6c+ 1" =0, then the value of

AR (20— +(3b+ 4 + (6e+1) =07 Y +¢ —Iabe
a +b +e
Options:
a) abc+3
b) 6
c)0
d)3
Correct Answer: 3
Candidate Answer: 3

Question 84. Two athletes start from the same point and move on a closed track of 600m. If they run in same direction at speeds of 1.5m/s and 3.5m/s, when will
they cross each other the second time?

& UTash Tl Toirg & TR R JARR Eoh TR 600 N gl o ol § | e I AT T&em # harer: 1.5 #y/Ahus 3R 3.5 #y/@hos Hr arfd @ sl € 0T 9 Teh ek 1 g@ll ar
e IR G |
Options:

a) 5 minutes
5 et

b) 6 minutes
6 faee

c) 10 minutes
10 AT

d) 12 minutes
12 fAse

Correct Answer: 10 minutes

10 fAeTe
Candidate Answer: 12 minutes

12 fAeTe

Question 85. A merchant marks an article 20% above cost price. He then sells it at a discount of 20%. The sale gives him:
T SITIRY el S T T FeT A 20% e 3ifha Fwar § | T a5 38 20% & g W a8 39 ok 43w grefrl
Options:

a) No loss or gain

I I T gied 7T

b) 4% loss

4% gy

c) 2% gain

2% o7

d) 4% gain

4% st

Correct Answer: 4% loss

4% gIfar

Candidate Answer: 4% loss

4% gifer

Question 86. The Diagonals of two squares are in the ratio of 3:7. What is the ratio of their areas?
2 qait & faehoT 3:7 & 3T H ¥ 15eTah ATThell T Te]dTel fohetert gram?

Options:

a) 3:7

b) 9:49

c) 4.7

d) 7:3

Correct Answer: 9:49
Candidate Answer: 3:7

Question 87. Anil started a business with an investment of Rs. 25,000. After 3 months, Vishal joined his business with a capital of Rs. 30,000. At the end of the year,
they have made a profit of Rs. 19,000. What will be Anil's share in the profit?

3feer ¥ Rs. 25000 3 fo¥der & sara [« fopam| it AT siie; faeier camar 3 «nfd¥er §31m 31X Rs. 30000 Y oMt e TrAY| I & 37t & 3¢ Rs. 19000 HT ¢ EHT| oI 7
HfeTel T e fohciaTr gram?

Options:

a) Rs. 10,000
b) Rs. 12,500
c) Rs. 10,250



d) Rs. 14,000
Correct Answer: Rs. 10,000
Candidate Answer: Rs. 10,000

Question 88. A shopkeeper purchases two items for Rs. 520. One of them is sold gaining 16% and the other at a loss of 10%, thus making no profit or loss. What is
the selling price of the item sold at loss?

Teh GhIeTER Rs. 520 # 2 SV @ & | Ueh ¥ 1 a8 16% ofet 3T g@ll hl 10% gifer & Ay S=reir &, o 38 o ot glelm § 3i% o7 g1fey el 1 eifer o) 9 918 g
1 Tasha e T gIam?

Options:

a) Rs. 288

b) Rs. 232

c) Rs. 320

d) Rs. 200

Correct Answer: Rs. 288

Candidate Answer: Rs. 288

Question 89. Two concentric circles are drawn with radii 12 cm and 13 cm. What will be the length of any chord of the larger circle that is tangent to the smaller
circle?

1297 3R 13 o F3oaT & 6 & §FA gedd FNC AT &1 93 ool 1 [T ST 1 oS fohctatT BT, 31T BIC Gt T TILRET 817
Options:

a)5cm

5 3

b) 8 cm

8 {4

c) 10 cm

10 ¥+

d) 25cm

25 3

Correct Answer: 10 cm

10 §Y

Candidate Answer: 10 cm

10 I

Question 90. Study the following line chart carefuly and answer the question given below. The following line chart represents the number of employee recruited in
different years in a company.

TRa=tifere Y@ =1E &1 LATTYdeh EqAqT Y 3R 99T 1 3cak Qo (He=Aifenet Y@ =ré & sty 7 fafdesr ot 7 o7cff farr are srefenat & e st axfrar aram g

2010 2011 2012 2013 2014

What was the ratio of number of employees recruited in year 2011 to that in year 2013?
2013 & JoR=AT 7 2011 3 $1cff FatenRaT T FEAT T T F4T 82

Options:

a) 2:3

b) 9:10

c) 10:9

d) 5:9

Correct Answer: 9:10
Candidate Answer: 10:9

Question 91. The average marks of a class of 35 children is 35. The marks of one of the students, who got 35, was incorrectly entered as 65. What is the correct



average of the class?

35 STt I Teh el & 3T 37 35 §1 35 37 UTod et aTel Teh Taemt & 37k ITerdt A 65 ford 17| e 1 ag 3iaa Far &2

Options:
a) 33.76
b) 34.14
c) 35.24
d) 36.50

Correct Answer: 34.14
Candidate Answer: 34.14

Question 92. If a/b=1/2, find the value of the expression (2a-5b)/(5a+3b)
Ife a/b=1/2,a" THET (2a-5b)/(5a+3b) &1 AT AT FX |

Options:

a) -32

b) 11

c) -8/11

d) 17

Correct Answer: -8/11

Candidate Answer: -8/11

Question 93. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

Mr. Naimi, the chief secretary, was unceremoniously after party's defeat in general elections.
Options:

a) exiled; predictable

b) ousted; disastrous

¢) recommended; unexpected

d) honoured; stupendous

Correct Answer: ousted; disastrous
Candidate Answer: recommended; unexpected

Question 94. Out of the four alternatives, choose the one which best expresses the meaning of the given word.

Belligerent
Options:
a) peaceful
b) noisy

c) hostile
d) cautious

Correct Answer: hostile
Candidate Answer: hostile

Question 95. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

Bradbury, one of the most versatile writer ever lived, was a school dropout.
Options:

a) Bradbury, one of the most

b) versatile writer ever lived,

c) was a school dropout

d) No Error

Correct Answer: versatile writer ever lived,
Candidate Answer: versatile writer ever lived,

Question 96. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

One who hates people.

Options:

a) Misandrist

b) Misologist

c) Misanthrope

d) Misogynist

Correct Answer: Misanthrope
Candidate Answer: Misanthrope

Question 97. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

We waited in six hours.

Options:
a) within



b) for

c) during

d) No improvement
Correct Answer: for
Candidate Answer: for

Question 98. Choose the word opposite in meaning to the given word.

Clandestine

Options:

a) forthright

b) surreptitious

c) wealthy

d) destitute

Correct Answer: forthright

Candidate Answer: destitute

Question 99. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:

a) heirachy

b) hierarchy

c) heirarchy

d) hairarchy

Correct Answer: hierarchy
Candidate Answer: heirarchy

Question 100. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

A BBC reporter was for what North Korea deemed a disrespectful portrayal of the country and its leader.
Options:

a) welcomed

b) recognized

c) celebrated

d) expelled

Correct Answer: expelled

Candidate Answer: expelled

Question 101. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

I his contribution to my book it was substantial.
Options:

a) admitted; although

b) confessed to; but

c) debunked; and

d) acknowledged; because

Correct Answer: acknowledged; because

Candidate Answer: acknowledged; because

Question 102. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

My brother, along with his friends, have gone to watch a movie at the nearest cinema hall.
Options:

a) at the nearest cinema hall

b) My brother, along with his friends

c) have gone to watch a movie

d) No Error

Correct Answer: No Error
Candidate Answer: have gone to watch a movie

Question 103. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

Finished my homework, I went out to play.
Options:

a) The work was finished

b) Homework completed

¢) Having completed my homework

d) No improvement

Correct Answer: Having completed my homework

Candidate Answer: Having completed my homework



Question 104. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

The king plans to move the kingdom away from domestic energy consumption, a change that will allow the Saudis to oil exports in the
years to come.

Options:

a) extravagant; decrease

b) wasteful; increase

C) unnecessary; minimize

d) substantial; moderate

Correct Answer: substantial; moderate
Candidate Answer: extravagant; decrease

Question 105. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

It is a normal part of growth and development for a young child to be wary with strangers.
Options:

a) of

b) from

c) at

d) No improvement

Correct Answer: of

Candidate Answer: from

Question 106. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.
Options:

a) liaison

b) liason

c) laison

d) liaizon

Correct Answer: liaison

Candidate Answer: liason

Question 107. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

Many of us have seen the dog who is full of beans outside the ring but, after stepping across the threshold of the ring, walks as if his feet are made of lead.
Options:

a) successful

b) popular

c) lacks energy

d) energetic

Correct Answer: energetic

Candidate Answer: energetic

Question 108. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

A person of great learning in several languages.
Options:

a) Polycarp

b) Polyglot

c) Polychrome

d) Polymath

Correct Answer: Polyglot
Candidate Answer: Polyglot

Question 109. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

It's time they went home.
Options:

a) go

b) had gone

c) gone

d) No improvement

Correct Answer: No improvement
Candidate Answer: go

Question 110. Four words are given, out of which only one word is correctly spelt. Find the correctly spelt word.

Options:
a) challange



b) chalenge
c) challenge
d) chalange

Correct Answer: challenge
Candidate Answer: challenge

Question 111. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

The teachers, who I worked with, were very insensitive towards children's needs.
Options:

a) The teachers, who I worked with

b) were very insensitive

c) towards children's needs

d) No Error

Correct Answer: The teachers, who I worked with
Candidate Answer: The teachers, who I worked with

Question 112. Out of the four alternatives, choose the one which best expresses the meaning of the given word.

Bashful
Options:

a) shy

b) extroverted
C) courageous
d) broad-minded

Correct Answer: shy
Candidate Answer: shy

Question 113. Choose the word opposite in meaning to the given word.

Pliable
Options:

a) rigid

b) friendly
c) flexible

d) applicable

Correct Answer: rigid
Candidate Answer: rigid

Question 114. Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives are suggested. Choose the correct alternative out of the four.

He is rich, yet he about high taxes.
Options:

a) Obscenely; whines

b) Very; is careless

c) Newly; is calm

d) not; worries

Correct Answer: Obscenely; whines
Candidate Answer: Very; is careless

Question 115. Out of the four alternatives, choose the one which best expresses the meaning of the given word.

Altruistic

Options:

a) hostile

b) outdated

c) selfish

d) philanthropic

Correct Answer: philanthropic

Candidate Answer: philanthropic

Question 116. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

A person who loves empty spaces
Options:

a) Nelomania

b) Kleptomania

¢) Kosmomania

d) Melanomania

Correct Answer: Kleptomania



Candidate Answer: Kleptomania

Question 117. Out of the four alternatives, choose the one which can be substituted for the given words/sentences.

To send someone back to his or her own country
Options:

a) Extirpate

b) Repatriate

c) Expropriate

d) Exile

Correct Answer: Repatriate

Candidate Answer: Extirpate

Question 118. Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which best expresses the meaning of Idiom/Phrase.

The team captain was at sixes and sevens regarding his winning strategy.
Options:

a) careless

b) confident

c) confused

d) courageous

Correct Answer: confused
Candidate Answer: confused

Question 119. In the following question, a part of the sentence is underlined. Below are given alternatives to the underlined part which may improve the sentence.
Choose the correct alternative. In case no improvement is required, choose "No Improvement" option.

She told me she has a headache.
Options:

a) had

b) is having

c) will have

d) No improvement

Correct Answer: had

Candidate Answer: had

Question 120. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

The scissors, which are on the table, belongs to Radha.
Options:

a) The scissors, which

b) are on the table

c) belongs to Radha

d) No Error

Correct Answer: belongs to Radha

Candidate Answer: belongs to Radha

Question 121. In the following question, some parts of the sentences have errors and some are correct. Find out of which part of a sentence has an error and choose
corresponding to the appropriate option. If a sentence is free from error choose corresponding to 'No Error'.

Each of the girls in my class sing well.

Options:

a) Each of the girls

b) sing well

c) in my class

d) No Error

Correct Answer: sing well

Candidate Answer: sing well

Question 122. In the following passage some of the words have been left out. Read the passage carefully and choose the correct answer to each question out of the
four alternatives and fill in the blanks.

Options:

a) (I) hazard

b) (I) aberration

c) (I) fluke

d) (I) oddity

Correct Answer: (I) oddity

Candidate Answer: (I) fluke

Question 123. In the following passage some of the words have been left out. Read the passage carefully and choose the correct answer to each question out of the



four alternatives and fill in the blanks.
Options:

a) (II) ascension

b) (II) wane

c) (III) rise

d) (IV) edge

Correct Answer: (II) wane
Candidate Answer: (IV) edge

Question 124. Cetacea does not include:
Options:

a) whales

b) sharks

c) dolphins

d) porpoises

Correct Answer: sharks

Candidate Answer: sharks

Question 125. To breathe dolphins use:
Options:

a) fins

b) echolocation

c) flippers

d) blowhole

Correct Answer: blowhole

Candidate Answer: blowhole

Question 126. Dolphins use their teeth:
Options:

a) to eat their prey

b) to trap their prey

c) to scare their prey

d) for aesthetic purposes

Correct Answer: to trap their prey

Candidate Answer: to trap their prey

Question 127. Which of these help dolphins to navigate through the water?
Options:

a) echolocation

b) blowhole

c) fluke

d) smooth skin

Correct Answer: fluke

Candidate Answer: fluke

Question 128. Dolphins use echolocation to:
Options:

a) breathe

b) navigate

€) communicate

d) hunt

Correct Answer: communicate
Candidate Answer: communicate



